REVO15-19 PSR
Toyota 15-19 REVO PSR FRONT BULL BAR

Read the installation instructions
carefully to avoid damaging the

vehicle or the competitive bar !!!



(Please check the accessories)

COMPETITIVE BARS AND ACCESSORIES

Tou

L
(o]

|
:

1x lower guard 2X biplane guard

LIGHTS AND OTHER ACCESSORIES

2X headlights

2X lamp body

2X beam head bracket A

- 'qj.f

S

2X beam head bracket B



The original

car sCrews

M12x80
This
screw connection

guard will be
used and then
tightened

The original

are connected

car screws are
connected

M6x16

T i | |
. L
YV i
=S ,/ . p U
M;? :'!;: *s .s,’)| %&‘.\
o | : é “‘ =
. @ .
-~ g -
L ] = -
Pa .
| [ . e
) : =
i @ . S
b1 .
Bk (Y
' | a )
R
LS WA
:(7:’:1" B ~ \

M12x30




M6X16

 —

ﬁlo




